
 

 EXAMPLE ELEMENTARY SCHOOL 
 
 
 
 
 

This Elementary School has a student body of 800 students. 100 of 

these students are absent for 1 day. 

 
Question 1: Student body =    

How much ADA would this school lose for that day? 
 

Number of students absent =     

ADA = $29.70 per pupil /per day 

Loss of $ per day 

 
 

Question 2: 

What if these same 100 students missed 1 week (5 days) of 
school? 

 
 
Number of students absent =    

ADA = $29.70  per pupil /per day 

Loss of $  per day 


